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' . Bonds Assessment
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: | Total: [ [2
: . Comp|ete the o||owin3 bonds of 2:

I

:2x3:— 2x5=__ b6+2=___

1 2xT7=__ 2x8=__ 2:2=__

izxm:____ 0:2=_

1 2x0=__ L+2=__

izxmz____ Re2=_

1 2x2=__ 8+2=__

I

: 2. Comp|ete the f o||owin3 bonds of 3:

I

i3x4:_____ 3xT=__ 2+3=__

:3x|02—_ 3x0=__ b+3=__

i3x5:_____ R:3=__

: 3 X q — _ q + 3 =

E3XQ:_____ 3B:+3=__

: 3x3= 5+3=___

I

I

:3. Comp|ete the f o||owin3 bonds of L:

I

I

:Axlz— Lx2=__ 0+(=__
' [x5=__ Lx2=__ 28+L=__
I

: A. X q = AA_ + =

 [x3=__ R+L=__

I

: bxT1=___ hvb=__

: A X A — 36 - -

I
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